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MEMAA  REMEESBENTERAZ EHHFEATr RO RE.
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RASWEXRE, ENHRENERNE. AT EAEEN.
A) By car. B) By bus. C) By walking. D) By rushing.
BRIT—BRBHA,EAEMENHNE —ES5KELTRAX BRRITE
WrENXRENRZETR. HHFEX.
Woman : If I were you, I would take the bus to work. During
that rush hour traffic is terrible.
Man: But by the time the bus gets to my stop,there aren’t
any seats left.

Third Voice;: How does the man prefer to go to work?
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#im: It’s time to depart.

EXEMAMRE T FH, HF time fil depart HAFEE, KA=4
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Woman: Tom, now. Before we order, shall we agree that we

each pay our own bill?

Man:  All right.

Third Voice: Where are these peple?

VA 3 48 39 43 B R -

A) In a bus. B)In a restaurant.



C) In a hospital. D) In a shop.
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Man: Let’s have a dinner together sometime this week ——

say ,tomorrow night?

Woman; I'm busy then. How about Thursday?

Third Voice: What does the woman mean?

PAA~ T 4 A R

A) She wants to know how to go there.

B) She wants to meet tomorrow night.

C) She will be able to see him on another day.

D) She will be busy every day this week.

&, G AT A busy ISt T 8- Kk by, How about
Thursday &M A ER, REREEN% C.

4 HBRTHR
FEEHFNNEREREERE L 507 H HXHRARME BIRES

WARX—BHER. MFRERAEEEF B B E 50K, tn
REEREHERFEPEARYF S HERBR PN —THE, BELT
ER,U+HANBLE, W
Woman ;: Why did you come back so late?
The game started at half past seven.
Man:Yes. It was supposed so,but it was delayed an hour.
Third Voice: When did the game actually start?
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A) 6:30 B)8:00 C)7:30 D)8:30
HhHRXFEA LB ER 7.30, fERERNE 830, fyLrTLL
B HEVASREG AREN A TRWHLEESEE, REXES
BB IERER.
(ST ir il
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ER RS THOEREREEERY. BETEAXEREN.
(1)A) Living on an American farm.
B) Asian farmers are different from American {farmers.
C) The U.S. farmers are very rich.
D) Farm life in Asia.
(2)A) Farm families live on their own farms in the U. 8. .
B) The farmers go a long way on Saturday for shopping
and on Sunday for church.
C) Farm life is much the same in every part of the world.
D) Farm life in the U. S. has been changing a lot.
(3)A) By train.  B) By bus. C) By car. D) By bicycle.
(4)A) To help each other.

B) To deal with their problems on their own efforts.



C) To depend on modern machines.

D) To follow the old ways.
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All big cities are quite similar. Living in a modern Asian city is not very
different from living in an American one. The same cannot be said about living
on farms,however.

In many parts of the world, farmers and their families live in villages or
towns. In the United States,however,each farm family lives on its own fields,
often beyond the sight of any neighhours. Instead of traveling from village to
the fields every morning, American farmers stay on their land throughout the
week. They travel to the nearest town on Saturdays for shopping or on Sun-
days for church. The children ride on buses to large schools which serve all of
the farm families living in the area. In some areas, there are small schools serv-
ing a few farm families,and the children walk to school.

Of course , life keeps changing for everyone, including farmers. Today
there are cars,good roads,radios,and television sets. And of course there are
modern machines for farming. All of these have changed farm life.

For many years,however, farming in America was often a lonely way of
living. Farmers had to deal with their own problems, instead of getting help
from others. They learned to try new methods,and to trust their own ideas in-

stead of following older ways.
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(DWhat is the passage about?

®Which of the following is not true according to the passage?

®How do the farmers’ children go to school?

@What did the farmers have to do in the past?
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HERERMARBANE. TEAY RN T ERTHES, Ha AR
BAIZ FA SRR R AR E RS AW SERRSS%. fim.

(D'What does the speaker think of San Francisco?

2 When San Franciscans choose their homes, what kind of
house do they want?

(@Which title is the most suitable for this passage?
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BEAGE FTAEXS WA ERES6 R EEGH RRAEE E Rk
HELBEEEETKFEBRE KA EHTE.
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In the United States, people appear to be constantly on the
move(D . How often® moving Vans on the road? @

are so many people actually@ ? Yes,people in the U-
nited States are indeed on the move. G ,about one third of
the population B) - Every person who moves®) for
making such a decision. Some people may decide to move®



Some may wish @ . And some have many other reasons.
» the amount of movement in this country is substantial.
(2) nferpe  E g b AR O 92T, 3T 5 B —Fh W LAY BT ik,
BMRE R B BAMFIERN FRECRMEEEE. #lm . England 5 E,
Monday E Mon,French B F,m £ RE% ment 2%, W FHEFE
BREZNBAHE,TTURENERANFE. XIHFEEEF 20N, REERF
BORHFFASEEFRBACEZ AR THICH BN, I8, EXmRE
ORI REI R T OMBE IR ERFRNA.



(—HBEAR

ERFEEAELLGFEEHEEES MR ERIEPE AR
REEERCEREENEN. HEMERTE 88428 A&,
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#:DThe word “plagiarize”most probably means “

”
.

@) “+-the desire of individuals to maximize their incomes”

9



means .
(2 HBRFE: URA YR -EESVKE HHCHEPRK—F

T REMVHARETRETIER.
#: © According to the passage, which of the following state-

ments is TRUE?
@ Which of the following can NOT be inferred from the
passage? -
) WHHAVE: RIFBECAFREL B — R % 5% 4 B
FRERE. WATEHHRKE.

# . (DCompared with those in small towns,people in large cities
have
@ According to the author, what distinguishes innovators
from non-innovators?
(O W EBE: FEMRSEENIAXRRB N AER, TRE
XEFRBH O BERBEA RS,
#1:(DWhat is the passage mainly about?

@The article was written to explain
) AN ARBERREBAX RN ZTEHEXHDER, TER

Exié‘lﬁgiﬁﬁ.aﬁﬁﬁﬁﬂ?ﬁﬁe
#:@DIn Paragraph 2,the author cites the examples of the lead-

ing on the stage to show that
@The author’s attitude towards industrialism might be best

summarized as one of

6) BHHRE  HHAXRUR X HEGXREESBHLE R,

# . D What conclusion can be drawn from the passage?
@1t can be concluded that a concentration of carbon dioxide
in the atmosphere would .
5351, B B P 46 [ % 88 (Short Answer Questions) , fif
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